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‘What Did The Farmer Do When.His Chicken
Wouldn't Lay Any Eggs?

Yes Mo
DIRECTIONS: e
For each exercise, v .

determine whether or not (o} | 2E | 12K
the number in braces is {8} 191 | 23A
asoluion of the given

equation. (5} | 16N | 48
Indicate “yes" or 1o by

circling the number- 20} | 24¥ | 8-0

leterin the appropriate | € | o
et the approD (®s2=6x+10 @ [12€ | 3p
exercise. Then write the (Der-15a-1 ElIEREN
leterin the matching
numbered box at the- (®2x+1-3x-3 @ | 1967 | 27K
bottom of the page.
@ 7x-2-4x20 01 | 1o | 45
([ m+20=1im-5 @) | 15U | 13R
(@ 18+ 5x=8x (6) | 24-m | 10-0

121 | 8E | 201

s} | 10 | 22F
{8} | 25T | 15-A
{1} | 27€ | 140

(@ ¢-5x--40 o) | 3L | 7w
@ 12-owes o | 1 [ 1ea
(18) x+8=-3x . {2 |206 |25D
yey-20 7 |26 | 5n
7d =50 + 2d ® [ 71 [25p
@) ex+1=3x-11 (4} | 18E | 210
(22 10k-9=8k+ 10 © | 10C | 28
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